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Read the following instructions carefully:

1. The paper has two Sections: A and B.

FOR EXAMINERS’ USE ONLY
2. Answer all questions. All answers to both Qn. No. Marks Examiner's
section A and B must be written in the No.
. 1-5
Space provided.
6-10
3. All answers must be written using a blue 1-15
Or black ball-point pen or ink. 16 -20
21-22
4. Unnecessary changes of work may lead 23 — 24
To loss of marks. 55— 26
27 - 28
5. Any handwriting that cannot easily be ——
Read may lead to loss of marks.
31-32
. L . Total
6. Do not fill anything in the boxes shown:

“For Examiners’ Use Only” and those

Inside the question paper.
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SECTION A (40 MARKS)

Work out 45 - 24 2. Find any one equivalent
fraction of 3
4
Given that = 5 bottles, 4. | Express 400cm into metres.
draw pictures that represent
20 bottles.
Increase 600ml by 40%. 6. | Divide ¥ .2
3 9
Find the value of 2 in the 8. | Giventhe digits 7, 2 and 9, form
number 123sive. the largest and smallest three-
digit numbers using the digits.
largest
smallest
Find the square root of 36. 10. | Six boys can clean the

compound in 4 days. How
many more boys are needed to
clean the same compound in
only 3 days?
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11. | Using a ruler, pencil and a pair of compasses only, construct an
angle of 600.

12. | The drawing below show cards with numbers written on them.

3[15]16]|7]] 9] [10]]|12] The cards were put in a box, if a person

is asked to pick a card at random, what is the chance of picking a
card that contains an even number?

13. | In the diagram below, find 14. | Describe the shaded regionin
the value of y in degrees. the diagram below.

% G
15. | Simplify; 4¢c + 3¢ - 5c¢. 16. | If one pound sterling is

equivalent to Ug. Sh 4550 at a
Forex Bureau, how much
money in Uganda shillings is
equivalent to 100 pounds
sterlings?
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17. | Without dividing, show which | 18. | The average of 8, 7, nand 4 is

of the numbers 122 and 102, is 6, find the value of n.

divisible by 3.
19. | work out; 20 |Solve for K.

sh3000 2k-8=12
-sh 1300
SECTION B (60 MARKS)

21. | The Venn diagram below shows the number of guests who ate some

food stuffs at Kelly’s birthday party.

Matooke Rice

(5 marks)

(a) How many guests ate;
(o (i)Matooke
20

(i) Rice

(b)Find the total number of guests who attended the party.
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22.

Three girls; Ruth, Rosettee, and Robinah shared 36 books in the ratio
of 2:1:3 respectively. How many books did each get? (6mks)

23.

A man who deadls in selling poultry birds bought 3 cocks and 5 hens
at sh 150,000 altogether. When he took them to the market, he sold
each hen for sh 20,000 and each cock at sh 30,000. Find the profit
the man made after selling all the birds. (5mrks)

24,

The Venn diagram below
shows the prime factors of A
and B. use it to answer
questions that follow. (5marks)

9

Given that the GCF of A and
Bis 6.
(a)Find the value of c.

FA FB

(b)Workout the LCM of A and B
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25. | A school bursar withdrew a bundle of twenty thousand shillings notes
numbered consecutively from AP135949 to AP135998 from a bank.

a How many notes were in the bundle? (Tmrk)

(b)How much money was in the bundle?¢ (5mrks)

26.

(a)Simplify -8 + -3 (2marks) | 27. | The table below shows addition
in base five. Complete the

table. (4mrks)
+ 2 3 4
2 4 five
3 | Mfve |

(b)Use a number line to
workout -3 + +5 (2 mrks)
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28. | (a)What distance does a 29. | InKitara village, there are 900
motorist moving at a speed of people, 60% of them are adults
45km/h coverin 2 hourse (2mks and the rest are children.(6mks)

(a)Find the percentage of
children in the village.

(b)JHow many adults are in the

(b)A cyclist covered a vilage?
distance of 30km in 40

minutes. Find his average

speed. (2mks)

(c)If % of the children are boys,
how many girls are in the
vilage?

30. |(a) Using a ruler, pencil and a pair of compasses only, construct a

square ABCD of sides 5 cm.

(b)Measure its diagonals
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31.

A parent borrowed sh. 500,000 from a village SACCO at a simple
interest rate of 2% per month to be paid back after 3 months. (5mks)

(a)How much interest did the parent pay?

(b)Calculate the amount of money the parent paid altogether.

32.

The table below shows the ages of some children in a group. (6mks)
Age in years 6 4 8 10 9 12
Number of children | 2 3 3 2 2 1

(a)How many children were in the group?

(b) Calculate the total number of children with age below 10 years.

(c)Workout the median age.

-End-
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